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1. Either the trick-or-treater who dressed up as a vampire or the trick-or-treater who dressed up as a werewolf is Cesar.
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4. Diamond didn't meet the count or queen.

5. The person who met the earl is Cesar.
6. The trick-or-treater who dressed up as a werewolf is not Cesar or Diamond.

7. The person whose anniversary is on March 31 is not Cesar.

. The person who met the countess didn't dress up as a vampire or witch.

. The person whose anniversary is on September 25 dressed up as a werewolf.

8. The trick-or-treater who dressed up as a witch is not Payton and didn't meet the count.

9. The trick-or-treater who dressed up as a zombie has an anniversary before the person who met the count.

10. Of the person who met the countess and Dante, one dressed up as a zombie and the other has an anniversary on

October 29.

11. The trick-or-treater who dressed up as a witch has an anniversary after the trick-or-treater who dressed up as a

vampire.
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